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COSTACCOUNTING
[ Honours ]
PAPER — AH4
Full Marks : 100
Time : 4 hours
The figures in the right hand margin indicate marks

_ o
Candidates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary

[NEW SYLLABUS]

1. Answer any five questions : , 4x5

(a) What is a cost sheet ? What purpose ddes it
serve ? | 242

|
(b) What do you mean by Prime Cost in cost
accounting ? Explain with suitable example. 4

(ﬁrmOver)



(2)

(¢) Which of the FIFO and LIFO methods of
pricing the tssue of materials is better and

why ? Explain. | 4

(d) Define'Cost Centre' and 'Cost Unit'. Give at
least two examples of each. 2+2

(e) What is the difference between a Store
Ledger and a Bin Card ? Bustrate your answer
with specimen forms of each. 4

~ () Why is it important to distinguish between
'fixed' and 'variable' expense in Cost
Accounting ? 4

(g) What is contract costing ? In which industries
contract costing is used ? 4

(k) Distinguish between Job Costing and Process
Costing. 4

(i) What is meant by 'Process Costing' 7 Name
at least two industrial where process costing
can be applied. 242
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(3)

(j) What is ‘Standard Cost' ? What is meant by
'Standard Costing System' ? 2+2

Answer any five questions : ' 8x3

(a) What is Cost Accounting ? It is said that
'Cost Accounting in an essential tool of
management'. — Do you agree ? Justify. 3 +5

(b) (i) Define Economic Order Quantity (EQQ).

(i) Find out EOQ of a manufactmi?ing
enterprize in respect of an item of store
from the following data :

(I) Annual Consumption : 8000 units.

(ID Cost of placing an order : Rs. 50
(per order)

(/) Price or Cost of the item : Rs. 100
(per unit)

(IV) Inventory Carrying Cost : 20% of
unit price. 3+5
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(4)

{¢) ABC firm has purchased a machine to
manufacture a new product. The cost and
other data of that product are given below :

Estimated Costs

Prime Cost — Material Rs. 24,000
Labour Rs. 3,600

Overhead -~ Factory Overhead Rs. 6,000
Administration Overhead
Rs. 7,200
Selling Overhead — 15%
of sales

Estimated profit per unit — Re. 0-51
Estimated Annual Sales — 12,000 units

Calculate the selling price of the product
per unit. 8
L]

{(d) From the following particulars, calculate
earnings of two workers~'A’ and 'B’ on the
basis of Taylor's Differential piece rate
system :

Standard Production : 10 units per hour
Normal Time Rate :Rs. 10 per hour.
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(e)

(3)

Price Rate Differentials to be applie# as
follows :

780% of Piece Rate below the standard and

120% of piece Rate at or above the standard

Workmg hours : 8 hrs. per day.
Worker 'A’ has produced 70 vaits

Worker 'B' has produced 100 units. 8
What are the objectives and characterilstics '
of 'Incentive Wage System'’ ? | 4+4

() (i) Write the Marginal Cost Equatioh and

(ii} XYZ Co. Ltd. from its record ﬁmnshes
the fellowing data : |

explain its significance.

Present volume of output : 4000‘!units
Present volume of sales : Rs. 4,00,000
Variable Cost for the output : Rs. 2,40,000
Fixed Cost : Rs. 60,000

You are required to calculate (ij P/V
ratio (ii) Break even point (iii) Margin of
Safety. 2424 2+2
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(6)

(g) The Particulars of Standard Costs and
Actual Costs related to the production of
an item produced during a year are given

below :
Production Standard Actual
2,00,000 units 2,060,000 units

Raw materials Amount Amount
Rs. Rs.

200000 kgs @ 2,10,000kgs

Re. 1-00 perkg 2,00,000 @Rs. 1-10perkg  2,31,000

Wages for 300000 295000 hrs. @

hours @ Re.1-00 Rs. 1-04 per

per hour 3,00,000 hour 3,06,800

From the above data you are required to
compute the following variances :

(/) Material Cost Variance

(i{) Material Price Variance

(iif) Labour Rate of Pay variance

(iv) Labour Efficiency variance. 2+2+2+2
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(7)

() What do you understand by over absofption
and under absorption of overheads ? What
are the causes of such over absorption or
under absorption ? L 4+4

(i) A contractis estimated to be 80% completed
and certified in its first year of construiction.
The contractee pays 75% of value of work
certified, as and when certified and makes
the final payment on the completion of
contract. ' | '

Following information is available for the
first year :

‘Rs.
Cost of work-in-progress uncertified 4,000

Profit transferred to Profit & Loss
A/c at the end of the first year on
incomplete contract 30,000

Cost of work to date 44,000
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(8)

Calculate the amount of Notional Profit,
Value of work certified, and the Total Contract
Price. J+3+2

| (/) Write short notes on (any fwo) : 4+4

() Opportunity Cos_t
(if) Perpetual Inventory System
(iii) Interprocess Profit
(iv) Margin of Safety.

3. . Answer any five questions : 15x2

(a) In a factory there are two production
departments P, and P, and two service
departments S, and S,. S, renders service
worth Rs. 6000 to 3, and the balance to the
production departments P, and P, in the
ratio 3 : 2. §, renders service to P, and P, in
the ratio 9 : 1.

From the particulars furnished below you are
required to calculate overheads to be allocated
to the production departments P, and P, :
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Proaduction Service
Depariments | Departments
Floor Area(sq. ft.} 2500 2000] 500 500
Assets(Rs.inlakh) 5 25 1:5 0-3
H. P. of machine 500 2500} 200 50
No. of workers 1006 50 50 25
Lightand Fanpoints 50 30 | 20 20
Direct Materials :
(Rs_in Thousand) 40 30 20 10
Direct Wage |
(Rs. inthousand) 40 40 10 20
Expenses and charges:  Rs.
Depreciation 1,90,000
Insurance 15,200
Canteen Expenses - 10,800

~ Rent, Rate and taxes 36,000
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(10)

Expenses and éharges : Rs.

Power 20,000

Electricity 4,300

Indirect Materials 7,000

Indirect Wages 22,000 15

- (b) From the following particulars relating to the
production and sale of refrigerators for the
year ended 3 1st March, 2017, prepare a
statement of cost showing therein :

(i) Prime Cost

(ii) Work Cost

(iii} Cost of Production '
(iv) Cost of sale

(v) Profit per unit

Opening Inventory (1.4.2017) Rs.

Raw materials 60,000
Work-in-Progress (W.i.P) 96,200
Finished goods (1000 units) 1,36,800
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(1)

Closing Inventory (31.3.2017) Rs.

Raw materials 70,000
Work-in-Progress (W.1.P) 80,200
Finished goods r?
Raw materials purchased 7,20,006
Productive wages 1,80,000
Machine Hours Worked |
(in hours) 2,16,000
Machine Hour Rate 1-50
Chargeable Expenses 1,64,000
Office Administrative O.H. Re. 1-00 per unit
Selling O.H. (per unit) Re. 0-90
Units Sold 80,000 units
Unit Produced 82,000 unifs
Profit on sale 10%

Assumed that sales are made on FIFQ ba:sis. 15
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(1z2)

(¢) "X'Ltd. Produces 'DOC" which passes through
two processes before it is completed and
transferred to finished stock. The following

data relate to March, 2017 :

Particulars _ Process  Finished Stock
1 1
®s) (Rs)  (Rs)

Opening Stock 3,750 4,000 11,250
Direct Materials 7,500 7,875
Direct Wages 5,600 5,625
Factory Overheads 5,250 2,250
Closing Stock 1,850 2,250 5,625
Inter-process profit
inciuded in opening
stock — 750 4,125

% of profit on transfer
price 25% 20%
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(13)

Stocks in processes are valued at pnme cost.

Finished Stock is valued at the price at which
it is received from the processli. Sales
during the period Rs. 70,000.

Prepare and complete Process Cost Accounts
and Finished Goods Account, slownng the

profit element at each stage. | 15
(d) Write short notes on (any three) : 5x3
(/) Opportunity cost
- (if) Break-Even point

(iii) Time and Motion Study
(iv) ABC Analysis.

[ Internal Assessment : 10 Marks ]

P
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S & @ 70 AT T WS 3 8 x@

(¥) e Rea® s o 2 § Sowey 2 s
| ? Y+y

(v) P08 RARTHTR owta ‘dul I IS B
[ ? TS BRI NG 37 | 8

(o) 8 Ridreactn cocar smafa g FIFO
@R LIFO % 1% “15f%  @if} wRewy s
CL e SR O 8

(7) “RGI-TE R AfRW-T 97
WS | AerRtA 130 s et wre 1 3 + 3
(@) Store Lédger 432 Bin Card @3 s0y1 #Midf3y

# ? Youa o @ (Form) it Saah
[ T | 8

(7) R Rt B R e RaSe
AR T AL Pt @ awyd oy
- TS I 8

(x) Bt =R fAefy S 00e 301 7 @ @I
foree 321 A Frefe el rEm s 7 8

(&) srefefer HfRam fdfa «m=fS o aften ofam
fHefa ~rafe= T0 AT crdre 8
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(7)o R P R @R @ T PR
" efiet *fRgn AT 2l 7S o, OivH Ty

22 % o TR | R +R
() ST 6 7 Tt B o 2o
A @ @R demteawe s  yxe

() o Rt e W 7 R
et JRYRR «F weifEd fne
B o I 7 | — ST wreorf o

e SowR NG I wife | - e+e
(#) () T AR FER VA (EOQ) I
o Fven! A 99

(ii) a3 Gestrtier 2¥YIE Store-& I
458 sl (item of material) AT
woyiEd N mewt w1 SYfR wEpRd
@ R TR wwI «fRwE (EOQ)
ffrza e

Annual consumption 8000 units
(e AR 3Z)

Cost of placing an order  Rs. 50 (ber order)
(et R viewie ) (ofS T fg)
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( 16 )

Price/cost of item Rs. 100 (per unit)
(a3 ofs sas Ton) (2 g fig)

Inventory carrying cost 20% of unit price
(St stttz offirar) o+ ¢

(7) ABC ¥1{ 93t qom1 oo Seoivma oo ool
T T Sy | ¥ i R @ae
S SR A ove 3% ¢

Estimated costs (Sqaf® a7w)
Primecost(mﬂ) — Material Rs. 24,000

Labour Rs. 3,600
Overhead (& IM) — Factory overhead Rs. 6,000

Administration overhead Rs. 7,200

Selling overhead — 15% of sales
Estimated profit per unit {63% #f$ sfRw we) — Re 0-5)
Estimated Annual sales (3% sfire % ) -— 12,000 units

AR o3 ofs Raw o e 3w

(v) PR ot sorrs ‘A" 9@ B staw
wRe  uftew  Beire (Earning) Taylor-43

TRGHNAT I(eTaF GR g7 e fiefy
F9 2
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W7 B4 (Standard Production) : 10 unit

of% weft forg

HretR% S 7 (Normal time rate) : Rs. 10/ 4f%

| v frg
Frffofes orowEe TgH TR Fais e
2 [£1) - B '

s weeet i LK

e PO M rfefde s vo%
(below standard) (80% of piece rate)
T PHSE TN [ar wi%ﬁwm %0%
TRT wrsi B

(atorabovestandard)  (120% of piece rate)

IO AR — AGZ b T

=% ‘A’ 70 unit Seviw FEE

i 'B' 100 unit BeAv IwmE | v
(8) “oetvenpre TER” R SO @ RemgeR

T - 8+8

(8 & mmwhw«mﬁ
[ I |
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(18)

(i) XYZ Co. Ltd.-a2 @%6 itz Fafs
R o o8 @ () P/V ratio
(7) Break-even point @32 () Margin of
Safety st 32 ¢

FEF BerA AT — 4000 unit

&N [ew Afawt— Rs. 400,000

Bestmi ifts 4fRwSier I : Rs. 240,000

i@ «ifd)am — Rs. 60,000 I+ ++3

(@) <= B v Sestm Aicwrig w9 AR
(Standard cost) @R #FS “fATF (Actual
cost) Fm cremt = ¢

S ¥R (Standard) 2% (Actual)

200,00 units 200,000 units
Wit Amount Amount
{Raw material) (Rs) (Rs)
200,000 kgs 210,000 kgs
a&kgl-ﬂomm 200,000 :lﬁkgl'lﬁﬁwm 231,000
= (wages) 300,000 w5 ' 295,000 Wit
of w1 1-00 Brest v 300,000 dfswR1-04%mwE 306,800

oA Y (IF RafiRe cewwm (variance) @t
St T
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(19)

1. e IS SN

(Matertal cost variance)
2. IR WS (SR |
(Material price variance) |
3. A YR (R
(Labour Rate of pay variance)

4. O TSR (O ;
(Labour Efficiency variance) R+t

(&) TR sifes SfS-Reiine (over absorption)
«q To-RUaEe (under absorption) FCs $
R ? SReEt e T Restet @ et
™ | 8 +8

() Pmfm o Tew o Bem 80% wif STt
8 ARifis (certified) 2L I WS = |
ot 31 T4} dotfile 97w, Bmret denfte
FHR 75% FoNH eI | a3 Pt e iR
AN WX PO O AR FR | AW IR
fafrfte wuift steat frme

. Rs.
Cost of work-in-progress uncertified 4,000
Profit transferred to profit & loss A/c
at the end of the first year on
incomplete contract 30,000
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Rs.
Cost of work to date 44,000
IRl wATeR AR, SRS B Ty e
GO FE IR PRI e+
() Dt ot (o8 1 736) ¢ g+8
() T@ ofRm
(i) SRA TGS A S
(iii) S -ofernt s
(iv) arerat-uifefy |
ol ¥ (P 747 oves Ty Wi S x]

) tﬁﬁmi’%@&mﬁ@ﬂ}’el’ €32
T st Rert 58 S, wme 1 S, ﬁ*sm
Rs. 6,000 wﬂﬁmsﬁm v A
o | A AR P8 P, ﬁmw3 02
WW?‘BHW’&IWWS Remww
“fitear P8 P, et g 9 1wa9nm

- Q‘Bﬂzﬁ‘t?ﬂl

ox o oy 23T P, 8 P, Rt s
Mmﬁﬁwmmﬂﬁmﬁ‘ww~
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Production Service
Departments | Departments
N
Floor Area (sq. ft.) 2500 20600 | 500 500
Assets (Rs.inlakh) § 25 1-5 0-5
H. P. of machine 500 2500 | 200 50
No. of workers 100 50 50 i25
Light and Fan points 50 30 20 20
Direct Materials |
(Rs. in Thousand) 40 30 20 '10
Direct Wage : |
(Rs.inthousand) 40 40 10 20
Direct Wage
(Rs. inthousand) 40 40 10 20
Expenses and charges : Rs. |
Depreciation 1,90,000
Insurance 15,200
Canteen Expenses 10,800
Rent, Rate and taxes 36,000
Power 20,000
Electricity 4,800
Indirect Materials 7,000
Indirect Wages 22,000
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() 2017 Atz 31 ¢4 W6, IR GG TR
ety Rl ¢ Rew s oz aeé
% (UF A Rt s IR a6 Besima
-oifE dge T g R Remef

PN FR

() TN

(i7) TR N

(iii) Sertwre e Fw

(iv) R 3w

(v) <% ofS @t |

Opening Inventory (1.4.2017) Rs.
Raw materials 60,000
Work-in-Progress (W.I.P) 96,200
Finished goods (1 units) 1,36,800
Closing Inventory (31.3.2017) Rs.
Raw materials 70,000
Work-in-Progress (W.I.P) 80,200
Finished goods 2
Raw materials purchased 7,20,000
Productive wages 1,80,000
Machine Hours Worked

(in hours) 2,16,000
Machine Hour Rate 1-50
Chargeable Expenses _ 1,64,000
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Office Administrative O.H. Re. 1-00 per unit

Selling O.H. (per unit)
Closing Inventory (31.3.2017)

Units Sold
Unit Produced
Profit on sale

Re. 0-90
.

80,000 units
82,000 units

10%

Assumed that sales are made on FIFO basis. ¢
(#) "X’ Ltd 'DOC’ B 3T, oty Foopef s

Bestfre Terce YRS 2 o &5 e
wgw e w1 faPiRe s 2017
HIPE W W™ AR W |
Particulars Process  Finished Stock
1 II ;
®s) (Rs) (Rs)
Opening Stock 3,750 4,000 11,250
Direct Materials 7,500 7,875
Direct Wages 5,600 5,625
Factory Overheads 5,250 2,250 .
Closing Stock 1,850 2,250 5,625
Inter-process profit
included in opening :
stock - 750 4,125
% of profit on transfer :
price - 25%  20%
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PR (prime cost) a7 Ty Ry IR
#fFTIR TR P T | Process I 3%
@ W Ao otenr Py, Gy W ey
Tenf*® o (Finished Goods) e fPufae
T = | Rewa «f{w 70,000 et |

i == wicen Bone Bfe TR Process
Cost Accounts @32 Finished Goods A/c #g%
] Y3

(%) Bt one (@@ o o) ¢ Exo

(¢) Tearst-3m

(i) et Ry

(iif) S @ v 2wt 3=t
(iv) ABC fRraet

[ werdr m s so 97 |

UG/TYCA/H/AH4/1T(New) MV-1,300



